A2

ER25EE KEXEFAHEBEEABRIRILF—NESHAEBECS TIESTERFTBESISOYREDOTEERE
me &
. $3~%®ﬁﬁ ﬁ*Jr@ﬁk#Jr S %w@fm mast E% 2y ﬁ% | g%m o ® Bt a3 Kk
E' PERTR Y & « fE I y—=4 ‘C 1% 5 n ®iEE oL =
% Al N B e " waEE | JT5ES nax | TOHOES R o
%
238 £ £ £ 245 248 245 £ B |pw| B |pw| BB || S8 £ £
wa| T e T s TSV mm) Ty w0 (e T e TS mm) T (e TS [mml T fem Ty e T e T (e T
BB EAR
ﬁ%gﬁﬁfBﬂ
EN G
W= 0 1 2,000 0 0 1 2,000 0 0 0 0 0 0 0 1 2,000 1 2,000
IS E B X B A —
INRRBIE £
#£RZFEDO 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
irgg%ﬁgiﬁ
LY EAE LR
B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ETHEXIERR
5 0 1 2,000 0 0 1 2,000 0 0 0 0 0 0 0 0 1 2,000 1 2,000




